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1. ~~§~~{~~~a~0ff.~ · :t£@]l&1VG*I¥J~LI~ · Jt~flmU{lj~(A)
 

MR=MC (B) P=AC (C) MR=AC (D) P=MC •
 

2. ,A profit-maximizing competitivefirm will produceup to the point at which: (A) 

total revenue is maximized. (B) marginal revenue is maximized. (C) total cost is 

minimized. (D) marginal revenue= marginal cost. (E) all of the above. 

3.	 *~ij!fnX;~$ 5 % • jfn*?m~5¥'[j: 1.3 · m~JEi¥J!jo/J1lil:~~ 3% • ~U 

~~~jf~~ijt1JD~m (A) 8% (B) 8.9 % (C) 9.5 % (D) 16.3 % • 

4.	 ]iJ.iLWf~J{U(Walras· Law)i¥J.lE~~~ (A) {1:fn.rfl~z~ · mlam*!¥.J~fI 

~m~(B) ?Jf~mtl~~\~~m (C)~~ n'1imtl · ~ n-I 'rlm~~mJ{um n 
'1imf&tQ.~\~~m (D){~~~~g* • iI$rr~ftj • 

5.	 EflZ.=J0E:t£~l:~$U-tt£4"-.· Efl~Z.f1J\jtg'8oz;~ft~{fF 500 ;§iJG · ZA) 
~m7.ii500;§i·gt~~IlZ~· ~Ax~7-~.x~$rr-tt£4"-.·z.rtt 
~IG\~*if ' :st~Efl{1J\jtg'8llZ~ftift~{fF 500 ;§ift · Ej3~~!lrqUflF.1lZ7 4"-Jffi 
-~500 ;§iift~jtgt:::ftl@*''*~U-1Suz;-~rl:2'tiitnfiiJ~~~=§.­

(GDP) ijt1.J[]7~;§ift? (A) 1000 (B) 500 (C) 0 (D)PJl:~~F· 

6, Which of the following would increase (shift to the right)the demand for a factor 

of production.? (A) an increase in its supply, causinga decreasein its price. (B) a 

decrease in the demand for the product. (C) a reduction in the price of a substitute 

factor of production. (D) an increase in the price of a substituteproduct. (E) an 

increase in the price of a complementary factor of production. 

7. An increase in the supply oflabor in a competitive market will : (A) increase labor 

productivity. (B) increasethe wage rate and the value of the marginal product. (C) 

increasethe wage rate and decrease the value ofthe marginal product. (D) decrease 

the wage rate and the value of the marginal product. (E) decreasethe wage rate and 

increasethe value of the marginal product. 

8.	 Diseconomies of scale result when (A) diminishing marginal product occurs. (B) 

falling average total cost occurs. (C) output increases morethan proportionatelyto 

change inputs. (D) increasing all inputs proportionately results in increasing ATC. 

(E)modem production techniques require larger numbers of workers, in order to 
take advantage of specialization. 

9.	 :t£OOMH~tp , ~D*MS[tf:U~ 480 ~ • f.El.:ffl;1&.Am 220m ' ..!3.1~j(!Ji!
 

~JH§~ , J{rJ~*~ij!fft~OOIfj; (A) 3M7i-W~$* 260ii (B) ~M~~*
 

~60 tt (C)W~:W~i'i~260 it (D) ~JffM~Mi 260 tI·
 
10.~rm%~!m~.~~9rrW=lfm~F? (A)~M~ili~~~{~m P <LAC (B)~W3 

Z~~mr~m* (C) ~.~:iE~J{rJm P=:MR=MC' f.!3. MR<AR(D')~fI~l¥Jm 

~=lf (E)9;~lWJi¥J~~.f~m P < AVC • 
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12.An inflation tax (A) is an explicit tax paid quarterly by business based on the 

amount ofincrease in the prices of their products. (B) is usually employed by 

governments with balanced budgets. (C) is a tax on people who hold interest 

bearing savings accounts. (D) is a tax on people who hold money. (E) none of the 

above. 

13.When an increase in government spending raises incomes, shifts money demand to 

the right, raises the interest rate and lowers investment, we haven seen a 

demonstration of (A) the multiplier effect. (B) the investment accelerator.(C) the 

crowing out effect. (D) supply-side economics. (E) None of the above. 

14.•~~Jfl;(Fishereffect )lJm (A)llti~$Wffj$zrelj~1iif*' (B)~Jr.fffl;l&:!Ii~.ffl; 

$zOO~rm~ (C)Jm~$W~~$zrJja"JlHlf*' (D)*~~~~$~~~$ZOO 

~1Jmf*'D 

IS.In the long run, inflation is caused by (A) banks that have market power and refuse 

to lend money. (B) governments that raise taxes so high that it increases the cost of 

doing business and hence raises prices. (C) gov~rnments that print too much 

money. (D) increases in the price of inputs, such as labor and oil. (E) none of the 

above. 

16.52%~H:~zJMtJJ.~ mlZSlM~9f-~mtl±t'f*~j1 , ~rj~~ff~~ (ArPJ~Ji~I 

1I*r~:P (B)1fjiffj$LIT (C)~~9f-~:If~:P (D)~~ITf~ • 

=. fl~~ (~41m xa1mS% = 20%) 

1. If the money is neutral, which of the following are not true? (~) an increase in 

the money supply does nothing. (B) the money supply cannot be changed because it is 

tied to a commodity such as gold. (C) a change in the money supply only affects real 

variables such as real output. (D) a change in the money supply only affects nominal 

variables such as prices and dollar wages. (E) a change in the money supply reduces 

velocity proportionately; therefore there is no effect on either prices or real output. 

2. 1frm1lll1tiJfj:i!~~~rjUfiiJ~lE!ir ? (A)/f'f¥l£~'~~fJg (B) OOl:fRjt~$~ 

~Mm~~*HE~(C)1?J1fI\@~m~(deadweight 10ss)f¥1£ (D)1?J~1ImS~*rj~~ 

(E) ~~Zrfljif~1fm~ • 
3. -@Il11~.fjij~~~ i~¥j( (A)~liJ~~jfr~:P (B)PJ~:R~f~~~::b­I 

(C).~·ffj~L7T (D)~~~* (E)'l!rjiR$L7T· 
4. ~1Hl~f6J~iWr"UfiiJ~~lHi ? (A).R~-~.1JJ3.H~~ftjtl~~ (B)ii 

~~~%~~AI$J£! (C)ff~1Jil£m~m*5¥'I1:*~Zl!l~(D)m='*&~Jju 

~11~ , m~~*5'M*~.rj~1I~f~ (E)/f'ff:(£f~~f!tI~ • 
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